4 BEERITEY 2R

%N - NN - | IESEEER
X iRt & ¥ R 4 &l 2 (M) (B) (B/A)
(BRMHT) % E
B |z om g |tvw 13 0 0 0 0.00
I B IR &% (Y Al 0 0 0 0.00
g=zmx |tvm 2 0 0 0 0.00
= aslp-mz |rvm 18 0 0 0 0.00
@ B lrmmz |[vw 3 0 0 0 0.00
] £ & 47 0 0 0 0.00
5 EVHRROaAZa=4H—T 3 H
B&EAE IV YN - | IEEEER
X Tt & ¥ KR 4 £ 2 (A ()] (B/A)
(BRMbT) % i
X B [xm\#e |ovmonsoa 2 0 0 0 0.00
ECRRa22=4—va Vit 2 0 0 0 0.00
6 TITXRICEHT 5% (BALUNDER)
% JN-| IV YN - | IEEEER
X BT & ¥ K 4 £ 2 (A) B (B/A)
(BHMHT) | = i
s mlewzz |8 = 2 0 0 0 0.00
I mlemrz |B = ! 0 0 0 0.00
#HEa e Is |ew ops 20 0 0 0 0.00
BE - EET YA 10 ! 0 1 0.10
BE - HHIE 25 0 0 0 0.00
Bt 55 1 0 1 0.02
I A N < 18 2 0 2 0.11
¥ oo koI g |g @ ! i 0 1 1.00
z ¥ ! 0 0 0 0.00
e 2 1 0 1 0.50
R OB |[kE2EEIT WBEEI 20 0 0 0 0.00
@ B |lmBE T2 |mrEm 8 0 0 0 0.00
T = 3 106 4 0 4 0.04
7T IXEICHET 5% (BAHDFER)
BHEANE IEEAE IEEEER
X HRTH & ¥R 4 ® 2 (A) B) (B/A)
(B&EHT) | = 5
X H |[KAHB I H 7y IE 19 0 0 0 0. 00
P AT 12 0 0 0 0.00
7 1TWYATA 5 0 0 0 0.00
B o4 36 0 0 0 0.00
T % & & 142 4 0 oo




8 MFEMHE

5 YN BEAE IEHEE
X ET# & 2R £ BO& ) B) (B/A)
(B&xMHT) " s
I R B % W Rl 6 0 0 0 0.00
o2 B O E 6 0 0 0 0.00
9 AKBEICETHEH
B&EAE BEAE IEBEE
XET# & 2R £ BO£ ) ®B) (B/A)
(BxEHT) = s
B B |H% & B *® & 9 1 0 1 0.1
1% i &t 9 1 0 1 0.1
10 Ba®2H
BEAE BEAE EHEE
XETH 4 2R £ B4 o) (B) (B/M)
(BxEHT) x B
RABX |[RABRKRE w & 4 0 0 0 0.00
w & % B & 4 0 0 0 0.00
11 ERHIERIR B4 @R
BEAB BHEAER B
S T N R4 - & BEEXS (A B) (B/M
(B&MbHT) = Hs
FHRAE |- i EER 1A 1Y 18 1 0 1 0.06
L@ 28 1Y 21 0 0 0 0.00
LER 3 1Y 19 0 1 1 0.05
&t 1 ERLE 58 1 1 2 0.03
B E |& = @R 1R 1Y 15 0 1 1 0.07
L@ 28 1Y 26 1 3 4 0.15
LER 3 1Y 13 4 0 4 0.31
&t 1 ERLE 54 5 4 9 0.17
L A £ = @R 1R 1Y 16 0 3 3 0.19
LiER 28 1Y 21 4 1 5 0. 24
&t 1 ER LG 37 4 4 8 0.22
NEF INEFHE Li@ER 258 1Y 8 3 0 3 0.38
LiER 3 H 1Y 11 1 0 1 0.09
&t 1 ER LG 19 4 0 4 0.21
ERHIERIRBMIN & 168 14 9 23 0.14




